T H =RV MTAR B M RE R E L
HIR,  200A%! (200kg LPH A S LV RTHlE Ak« fF_EHUH)

*ﬁ *ﬁ@T/jJ‘—T/I/]‘ \—’f’ﬁéﬁlﬁ% iﬁbnq:'ﬁﬂ%‘lrna \—ﬂﬂbiﬁ
F@ﬁ% Wmﬁfz—fﬁ aJr i TAREF 2014 R GURIVE N B AR 22 —) OEIZLD,

1. GRS

O gs D ELAH 8 W =WI1+W2 = 1.813 + 1.960 = 3.773 kN
WIS AR RN E & = 185 kg = 1.813 kN
W2: A CALPHAER = 200 kg = 1.960 kN

OGN EE % Ky = 1.5 (EZIASHIFEICERBETHKMEOBE)

@A FHE S Fy=KyW = 1.5 X 3.773 = 5.660 kN
@ EHE S Fy = 1/2F; = 2.830 kN
GF: N
AT LSS L ETOEE hg = 416 cm
RVRDOPLPOHEGEOETORER b = 31.0 cm (BUzEFHmOENFH)
©7 > B —RLh
HWEr DI 2 E X - O RV EZ TR OT o —RAAE  nt = 2 K
TUN—FRILIORAE n= 4 K RIVR A 0= 620 cm
2. 7V I—ARNED51HJ1:Rb KOEAMW ) :Q (A XEEFHmOENH)
Rp — Fuhe = (W=Fy) 0 _ 5660 x 41.6 —( 3.773 — 2.80 )X 31
0+nt 124
Rb = 1.67 kN
Q="1= 5'260 Q= 142 kN

n
3. B LT 1—R VORI T]
-ﬁ’@lﬁ?ﬁ%:%ﬁ)ﬁ%ﬁ?yﬁ—ﬂ%‘/w
ME.SUS MO M 10 HAEX L :6.0 cmllhk
a7V —MEE Fe 1.8 k N/c 2Oty s ) — RBREE 2. 1kN/cm®)

FIHIRFABIWE Ta = 6 21L% p = 1/6Min(Fc/30,0.05+Fc/100)
p = 1/6Min( 1.8 = 30 . 0.05 + 1.8 = 100 )
p = 1/6Min( 0.06 . 0.068 )= 0.01
Ta = 6 X 3.14 X 6.0 X 6.0 X 0.0l = 6.78 kKN/A&
i L5 %%ﬁ?/ﬁ—ww?ﬁ %)
ME.SUS MO M 10 HUAREX L 7.0 cmllkbE

caLJY—RREE F 2.1 kN/cm?
WIS HE Ta = Fe/8n+dy*L  dy:alZV—hDZEAE 1.2 cm
KT I =RV A= T —HELHE AR 3 A2 8,
Ta = 2.1 =+ 8 X 314 X 1.2 X 7.0 = 6.9237 kN/A&

4. FHfh A R _ ) _
7o I — RV At A LS KA HIE | 5
RNVNMIELDEI5ET) [Rb 1.67 kKN/A | <[ 11.28 kN/A& | &4

<

<

RIVMZAETSE AW Q 1.42 kN/A 6.55 kN/i ﬁ@
R AT 6.78 kN/ 3 Eol RIS
FRLOMEYE R T R THAMELL T CTHY | iR A 2L TWET,
MEFAE
RVROFFESIES ARV NSRBI X MBS LA ot FEIc ks, [ 055 X 205 = 11.28 ]
RVEDOFFERAM ST AN X M E LD /Y 30 R iElc kS, [ 055 X 11.9 = 6.55 ]
RALOFESIR SN Ef. 3. HEi LT I —FRAVMOFRES £Ta 128D,
ERL
A, TREEEER R M A ek 5t i THR&t 2014 4ERR) (M HIIE A A ARBHE B & —) IZ LD FEBRIEH R A R OFMTHY,
T =R NAR BRI RER AT b O THY £ A, [BEERTT, ]
EBEROHESE LT A —OE TIZHiz>Td, FErtBMEIVSFRMDS EEHES FiEs & N FREEHEEZSBIZLT
YNz PV =R R OT o —R NV NEREL, BREHliFH RO b, i U70E T.24T-> TIEE,
(1) BESE L7 21— e AR AR 5 - e LHeSt CRERI84ET A [H 123 @ A R R gL HeEi)
(2) JCAAD LN L7 J1 —H T Bk (2005455 H (f1) H AR S Hfi L7 B — 1 42)
AFAIF BT J D M T
) —MREE : 2IN/mm?LL L, TU—H Vb 35 /TR Vb MR SUS304, FEOMR: M 10, HHARE: 7.0 cemPl bk

et BEARSESTHIEER /SILOEES

2017/1/27



